
$5F5=7<O 

 

=4 <5F>4<G5E>>5 ?>E>5<5 ?> 6O?>?=5=<N ?D4>F<G5E><E D45>F 4<EF<??<=O 

«�5=5F<>4 G5?>65>4 E >E=>64<< <54<F<=E>>= 75=5F<><», 4?O E?5F<4?L=>EF5= 

33.02.01, E>EF46?5==>5 ?D5?>4464F5?5< 5<>?>7<< < E<<<< '��' �=4?E><= 

<=4GEFD<4?L=O= F5E=<>G<, .D>6>= �==>= %5D7556=>=. 

 

�4==>5 <5F>4<G5E>>5 ?>E>5<5 E>EF46?5=> =4 >E=>64=<< D45>G5= ?D>7D4<<O 

?> 4<EF<??<=5 «�5=5F<>4 G5?>65>4 E >E=>64<< <54<F<=E>>= 75=5F<><», 6 

E>>F65FEF6<< E FD55>64=<O<< $545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4. 

�5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «�5=5F<>4 G5?>65>4 E >E=>64<< 

<54<F<=E>>= 75=5F<><» EFDG>FGD<D>64=> < E>45D6<F 7 ?D4>F<G5E><E D45>F, 

>F65G4NM<E =5>5E>4<<><G 547<E=><G GD>6=N GG55=>-?>7=464F5?L=>= 

45OF5?L=>EF< EFG45=F4. �5F>4<G5E>>5 ?>E>5<5 <<55F E>45D64=<5, 

?>OE=<F5?L=GN 74?<E>G, 66545=<5, 7 ?D4>F<G5E><E 74=OF<= E ?D<?>65=<5< 

F5>D5F<G5E>>7> <4F5D<4?4 4?O E4<>EF>OF5?L=>= D45>FO EFG45=F4. 

&5?LN <5F>4<G5E>>7> ?>E>5<O ?> 4<EF<??<=5 «�5=5F<>4 G5?>65>4 E 

>E=>64<< <54<F<=E>>= 75=5F<><» O6?O5FEO >FE?54<FL D5?D>4G>F<6=O= < 

?D>4G>F<6=O= GD>65=L GG55=>-?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F4. �?O 

MF>7> 6 >464>= ?D4>F<G5E>>= D45>F5 >?D545?5=4 55 F5?L < G5F>> 6O45?5=4 

?>E?54>64F5?L=>EFL 6O?>?=5=<O 7444=<=, ?D54GE<>FD5=4 <E 64D<4F<6=>EFL; 

7D4<>F=> ?>EF46?5=O 6>?D>EO 4?O 74>D5??5=<O <7GG5==>= F5<O, 

?D54GE<>FD5=O >>=FD>?L=O5 F5EFO, GF> 6 E<EF5<5 >FE?56<64NF ?>47>F>6>G 

EFG45=F4 6 E>>F65FEF6<< E E>45D64=<5< < FD55>64=<O<< $545D4?L=>7> 

7>EG44DEF65==>7> EF4=44DF4. 

�D5?>4464F5?L GG<FO645F 6>7D4EF=O5 >E>55==>EF< EFG45=F>6 6F>DOE >GDE>6. 

'GF5=4 D47?<G=4O EF5?5=L ?>47>F>6?5==>EF< >5GG4NM<EEO G5D57 

D47=>GD>6=56O5 7444=<O, 6 F>< G<E?5 4?O >44D5==OE EFG45=F>6 5EFL 7444=<O 

?>6OL5==>= E?>6=>EF<. %FG45=FO <<5NF 6>7<>6=>EFL M>E?5D<<5=F4?L=> 

=4GG<FLEO 4=4?<7<D>64FL, ?D>7=>7<D>64FL ?5D544GG =4E?54EF65==OE 

?D<7=4>>6 6 ?>>>?5=<OE <EE?54G5<OE >D74=<7<>6 < ?D><76>4<FL 

M>E?5D<<5=F4?L=O5 D4EG5FO ?D>O6?5=<O 75=>6 6 ?>?G?OF<OE.  

�<5O 7=4=<O ?D54<5F4 «�5=5F<>4 G5?>65>4 E >E=>64<< <54<F<=E>>= 

75=5F<><», ?>?GG5==O5 =4 6F>D>< >GDE5 F5E=<>G<4, EFG45=FO, >5GG4NM<5EO 

E ?><>MLN 44==>7> ?>E>5<O =4 74=OF<OE 5<>?>7<< 6 %��, 4 ?>765 < �'�5, 

<>7GF GE?5L=> D476<64FLEO, <7GG4O ?>765 5>?55 G7?G5?5==> 4<EF<??<=O 

«�=4F><<N G5?>65>4», «�4F>?>7<N», «�>F4=<>G», «�<>D>5<>?>7<N», 

«�<>E<<<N», 745 ?D>4>?645FEO D476<F<5 <E ?D>D5EE<>=4?L=OE 

>><?5F5=F<=. -F> ?><>65F << EF4FL ?D>D5EE<>=4?4<< 6 >5?4EF< D4D<4F<< < 

<54<F<=O. 

'G55=>-<5F>4<G5E><= >><??5>E E>EF46?5= E GG5F>< E>6D5<5==OE E6545=<= > 

=4E?54EF65==>EF< < <7<5=G<6>EF< 6<6OE >D74=<7<>6. �D4>F<G5E><5 D45>FO 

>E=4M5=O E?D46>G=O<< F45?<F4<<, EE5<4<< E <??NEFD4F<O<<, D<EG=>4<<, 

>5D47F4<< 4?O 6O?>?=5=<O 7444=<=.  



�D4>F<G5E><5 74=OF<O >E64FO64NF 646=O5 6>?D>EO 75=5F<>< G5?>65>4 E 

>E=>64<< <54<F<=E>>= 75=5F<><: EFD>5=<5 MG>4D<>F<G5E>>= >?5F><, 

5<>E<=F57 55?>4, EF5??5==>5 E ?>?>< =4E?54>64=<5, <7GG5=<5 

75=54?>7<G5E><E EE5<, 74>>= %4D4<-�4==55D74, >5NOE=ONM<= 4D5=D 75=>6 6 

?>?G?OF<OE, ED><>E><=O5, <G?LF<D4>F>D<4?L=O5 < 75==O5 745>?564=<O. 

�>ED54EF6>< ?D4>F<G5E><E 7444=<= D>D<<DGNFEO 646=5=L<5 >><?5F5=F<<: 

G<5=<5 >D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, 6O5<D4FL F<?>6O5 

<5F>4O < E?>E>5O 6O?>?=5=<O ?D>D5EE<>=4?L=OE 7444G, >F5=<64FL <E 

MDD5>F<6=>EFL < >4G5EF6>; >EGM5EF6?OFL ?><E> < <E?>?L7>64=<5 

<=D>D<4F<<, =5>5E>4<<>= 4?O MDD5>F<6=>7> 6O?>?=5=<O 

?D>D5EE<>=4?L=OE 7444G, ?D>D5EE<>=4?L=>7> < ?<G=>EF=>7> D476<F<O.  

�4==>5 <5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «�5=5F<>4 G5?>65>4 E >E=>64<< 

<54<F<=E>>= 75=5F<><» >F65G45F $545D4?L=><G 7>EG44DEF65==><G 

EF4=44DFG, E>45D6<F =5>5E>4<<>5 >>?<G5EF6> ?D4>F<G5E><E 6 E>>F65FEF6<< E 

D45>G55 ?D>7D4<<>= ?> «�5=5F<>4 G5?>65>4 E >E=>64<< <54<F<=E>>= 

75=5F<><» < <>65F 5OFL <E?>?L7>64=> 4?O ?>47>F>6>< E?5F<4?<EF>6 6 

ED54=<E ?D>D5EE<>=4?L=OE GGD5645=<OE <54<F<=E>>7> ?D>D<?O. 

$5F5=75=F: 

�5D6O= ?D>D5>F>D  

���� �� «�=4?E><= <=EF<FGF  

?D464 < <=D>D<4F<>==OE F5E=>?>7<=»,  

>.M.=., ?D>D5EE>D $��                                                                          �.�. �47>64 

 

 «  31  »   467GEF4   2023 7. 

 



$5F5=7<O 

 

=4 <5F>4<G5E>>5 ?>E>5<5 ?> 6O?>?=5=<N ?D4>F<G5E><E D45>F 4<EF<??<=O 

«�E=>6O <<>D>5<>?>7<< < <<<G=>?>7<<», 4?O E?5F<4?L=>EF5= 33.02.01, 

E>EF46?5==>5 ?D5?>4464F5?5< 5<>?>7<< < E<<<< '��' �=4?E><= 

<=4GEFD<4?L=O= F5E=<>G<, .D>6>= �==>= %5D7556=>=. 

 

�4==>5 <5F>4<G5E>>5 ?>E>5<5 E>EF46?5=> =4 >E=>64=<< D45>G5= ?D>7D4<<O 

?> 4<EF<??<=5 «�E=>6O <<>D>5<>?>7<< < <<<G=>?>7<<», 6 E>>F65FEF6<< E 

FD55>64=<O<< $545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4. �5F>4<G5E>>5 

?>E>5<5 ?> 4<EF<??<=5 «�E=>6O <<>D>5<>?>7<< < <<<G=>?>7<<» 

EFDG>FGD<D>64=> < E>45D6<F 14 ?D4>F<G5E><E D45>F, >F65G4NM<E 

=5>5E>4<<><G 547<E=><G GD>6=N GG55=>-?>7=464F5?L=>= 45OF5?L=>EF< 

EFG45=F4. �5F>4<G5E>>5 ?>E>5<5 <<55F E>45D64=<5, ?>OE=<F5?L=GN 74?<E>G, 

66545=<5, 14 ?D4>F<G5E><E 74=OF<= E ?D<?>65=<5< F5>D5F<G5E>>7> <4F5D<4?4 

4?O E4<>EF>OF5?L=>= D45>FO EFG45=F4. 

&5?LN <5F>4<G5E>>7> ?>E>5<O ?> 4<EF<??<=5 «�E=>6O <<>D>5<>?>7<< < 

<<<G=>?>7<<» O6?O5FEO >FE?54<FL D5?D>4G>F<6=O= < ?D>4G>F<6=O= GD>65=L 

GG55=>-?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F4. �?O MF>7> 6 >464>= 

?D4>F<G5E>>= D45>F5 >?D545?5=4 55 F5?L < G5F>> 6O45?5=4 

?>E?54>64F5?L=>EFL 6O?>?=5=<O 7444=<=, ?D54GE<>FD5=4 <E 64D<4F<6=>EFL; 

7D4<>F=> ?>EF46?5=O 6>?D>EO 4?O 74>D5??5=<O <7GG5==>= F5<O, 

?D54GE<>FD5=O >>=FD>?L=O5 F5EFO, GF> 6 E<EF5<5 >FE?56<64NF ?>47>F>6>G 

EFG45=F4 6 E>>F65FEF6<< E E>45D64=<5< < FD55>64=<O<< $545D4?L=>7> 

7>EG44DEF65==>7> EF4=44DF4. 

�D5?>4464F5?L GG<FO645F 6>7D4EF=O5 >E>55==>EF< EFG45=F>6 6F>DOE >GDE>6. 

'GF5=4 D47?<G=4O EF5?5=L ?>47>F>6?5==>EF< >5GG4NM<EEO G5D57 

D47=>GD>6=56O5 7444=<O, 6 F>< G<E?5 4?O >44D5==OE EFG45=F>6 5EFL 7444=<O 

?>6OL5==>= E?>6=>EF<. %FG45=FO <<5NF 6>7<>6=>EFL M>E?5D<<5=F4?L=> 

=4GG<FLEO >?4EE<D<F<D>64FL < E<EF5<4F<7<D>64FL <<>D>>D74=<7<O, 

E4D4>F5D<7>64FL ?<F4F5?L=O5 ED54O, ?>=<<4FL ?D<=F<?O D4F<>=4?L=>= 

E<<<>F5D4?<< < F.4. 

�<5O 7=4=<O ?D54<5F4 «�E=>6O <<>D>5<>?>7<< < <<<G=>?>7<<», 

?>?GG5==O5 =4 6F>D>< >GDE5 F5E=<>G<4, EFG45=FO, >5GG4NM<5EO E ?><>MLN 

44==>7> ?>E>5<O =4 74=OF<OE 5<>?>7<< 6 %��, 4 ?>765 < �'�5, <>7GF 

GE?5L=> D476<64FLEO, <7GG4O ?>765 5>?55 G7?G5?5==> 4<EF<??<=O 

«�=4F><<N G5?>65>4», «�5=5F<>G G5?>65>4 E >E=>64<< <54<F<=E>>= 

75=5F<><», «�4F>?>7<N», «�>F4=<>G», «�<>D>5<>?>7<N», «�<>E<<<N», 745 

?D>4>?645FEO D476<F<5 <E ?D>D5EE<>=4?L=OE >><?5F5=F<=. -F> ?><>65F << 

EF4FL ?D>D5EE<>=4?4<< 6 >5?4EF< D4D<4F<< < <54<F<=O. 

'G55=>-<5F>4<G5E><= >><??5>E E>EF46?5= E GG5F>< E>6D5<5==OE E6545=<= > 

=4E?54EF65==>EF< < <7<5=G<6>EF< 6<6OE >D74=<7<>6. �D4>F<G5E><5 D45>FO 

>E=4M5=O E?D46>G=O<< F45?<F4<<, EE5<4<< E <??NEFD4F<O<<, D<EG=>4<<, 

>5D47F4<< 4?O 6O?>?=5=<O 7444=<=.  



�D4>F<G5E><5 74=OF<O >E64FO64NF 646=O5 6>?D>EO <<>D>5<>?>7<< < 

<<<G=>?>7<<: EFD>5=<5 ?D>>4D<>F<G5E>>= >?5F><, EFD>5=<5 6<DGE4, 

>?4EE<D<>4F<O 54>F5D<=, ?<F4F5?L=O5 ED54O; M>>?>7<O <<>D>>D74=<7<>6, 

GEF>=G<6>EFL <<>D>>D74=<7<>6; 64>F<=O < EO6>D>F>G=O5 ?D5?4D4FO, 

>E=>6=O5 7DG??O E<<<>F5D4?56F<G5E><E ED54EF6; D4>F>DO 74M<FO 

<<<G=<F5F4, <<<G=>?D>D<?4>F<>4 < <<<G=>F5D4?<O; 745>?564=<O, >>F>DO5 

6O7O64NFEO D47=O<< <<>D>>D74=<7<4<< < <E ?D>D<?4>F<>4. �>ED54EF6>< 

?D4>F<G5E><E 7444=<= D>D<<DGNFEO 646=5=L<5 >><?5F5=F<<: G<5=<5 

>D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, 6O5<D4FL F<?>6O5 <5F>4O < 

E?>E>5O 6O?>?=5=<O ?D>D5EE<>=4?L=OE 7444G, >F5=<64FL <E MDD5>F<6=>EFL 

< >4G5EF6>; >EGM5EF6?OFL ?><E> < <E?>?L7>64=<5 <=D>D<4F<<, =5>5E>4<<>= 

4?O MDD5>F<6=>7> 6O?>?=5=<O ?D>D5EE<>=4?L=OE 7444G, ?D>D5EE<>=4?L=>7> 

< ?<G=>EF=>7> D476<F<O.  

�4==>5 <5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «�E=>6O <<>D>5<>?>7<< < 

<<<G=>?>7<<» >F65G45F $545D4?L=><G 7>EG44DEF65==><G EF4=44DFG, 

E>45D6<F =5>5E>4<<>5 >>?<G5EF6> ?D4>F<G5E><E 6 E>>F65FEF6<< E D45>G55 

?D>7D4<<>= ?> «�E=>6O <<>D>5<>?>7<< < <<<G=>?>7<<» < <>65F 5OFL 

<E?>?L7>64=> 4?O ?>47>F>6>< E?5F<4?<EF>6 6 ED54=<E ?D>D5EE<>=4?L=OE 

GGD5645=<OE <54<F<=E>>7> ?D>D<?O. 

$5F5=75=F: 

�5D6O= ?D>D5>F>D  

���� �� «�=4?E><= <=EF<FGF  

?D464 < <=D>D<4F<>==OE F5E=>?>7<=»,  

>.M.=., ?D>D5EE>D $��                                                                          �.�. �47>64 

 

 «  31  »   467GEF4   2023 7. 

 



$5F5=7<O 

 

=4 <5F>4<G5E>>5 ?>E>5<5 ?> 6O?>?=5=<N ?D4>F<G5E><E D45>F 4<EF<??<=O 

«�5M5= < =5>D74=<G5E>>= E<<<<», 4?O E?5F<4?L=>EF5= 33.02.01, 

E>EF46?5==>5 ?D5?>4464F5?5< E<<<< < 5<>?>7<<  '��' �=4?E><= 

<=4GEFD<4?L=O= F5E=<>G<, .D>6>= �==>= %5D7556=>=. 

 

�4==>5 <5F>4<G5E>>5 ?>E>5<5 E>EF46?5=> =4 >E=>64=<< D45>G5= ?D>7D4<<O 

?> 4<EF<??<=5 «�5M5= < =5>D74=<G5E>>= E<<<<», 6 E>>F65FEF6<< E 

FD55>64=<O<< $545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4. �5F>4<G5E>>5 

?>E>5<5 ?> 4<EF<??<=5 «�5M5= < =5>D74=<G5E>>= E<<<<» EFDG>FGD<D>64=> 

< E>45D6<F 10 ?D4>F<G5E><E D45>F, >F65G4NM<E =5>5E>4<<><G 547<E=><G 

GD>6=N GG55=>-?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F4. �5F>4<G5E>>5 

?>E>5<5 <<55F E>45D64=<5, ?>OE=<F5?L=GN 74?<E>G, 66545=<5, 10 

?D4>F<G5E><E 74=OF<= E ?D<?>65=<5< F5>D5F<G5E>>7> <4F5D<4?4 4?O 

E4<>EF>OF5?L=>= D45>FO EFG45=F4. 

&5?LN <5F>4<G5E>>7> ?>E>5<O ?> 4<EF<??<=5 «�5M5= < =5>D74=<G5E>>= 

E<<<<» O6?O5FEO >FE?54<FL D5?D>4G>F<6=O= < ?D>4G>F<6=O= GD>65=L 

GG55=>-?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F4. �?O MF>7> 6 >464>= 

?D4>F<G5E>>= D45>F5 >?D545?5=4 55 F5?L < G5F>> 6O45?5=4 

?>E?54>64F5?L=>EFL 6O?>?=5=<O 7444=<=, ?D54GE<>FD5=4 <E 64D<4F<6=>EFL; 

7D4<>F=> ?>EF46?5=O 6>?D>EO 4?O 74>D5??5=<O <7GG5==>= F5<O, 

?D54GE<>FD5=O >>=FD>?L=O5 F5EFO, GF> 6 E<EF5<5 >FE?56<64NF ?>47>F>6>G 

EFG45=F4 6 E>>F65FEF6<< E E>45D64=<5< < FD55>64=<O<< $545D4?L=>7> 

7>EG44DEF65==>7> EF4=44DF4. 

%<<<G5E><= M>E?5D<<5=F MF> >4=> <7 646=5=L<E ED54EF6 >5GG5=<O E<<<<. � 

E>45 >5GG5=<O >5GG4NM<5EO ?>?GG4NF >?OF=O5 ?>4F65D645=<O 

DG=44<5=F4?L=OE 5EF5EF65==>=4GG=OE 74>>=>6, =47?O4=>EFL < ?D4>F<G=>EFL 

6 <EE?54>64=<< E6>=EF6 65M5EF6 ?>ED54EF6>< ?45>D4F>D=OE >?OF>6. 

�D5?>4464F5?L GG<FO645F 6>7D4EF=O5 >E>55==>EF< EFG45=F>6 6F>DOE >GDE>6. 

'GF5=4 D47?<G=4O EF5?5=L ?>47>F>6?5==>EF< >5GG4NM<EEO G5D57 

D47=>GD>6=56O5 7444=<O, 6 F>< G<E?5 4?O >44D5==OE EFG45=F>6 5EFL 7444=<O 

?>6OL5==>= E?>6=>EF<. %FG45=FO <<5NF 6>7<>6=>EFL M>E?5D<<5=F4?L=> 

=4GG<FLEO 4=4?<7<D>64FL, ?D>7=>7<D>64FL E6>=EF64 65M5EF6 < ?D><76>4<FL 

M>E?5D<<5=F4?L=O5 D4EG5FO. 

�<5O 7=4=<O ?D54<5F4 «�5M5= < =5>D74=<G5E>>= E<<<<», ?>?GG5==O5 =4 

6F>D>< >GDE5 F5E=<>G<4, EFG45=FO, >5GG4NM<5EO E ?><>MLN 44==>7> 

?>E>5<O =4 74=OF<OE E<<<< 6 %��, 4 ?>765 < �'�5, <>7GF GE?5L=> 

D476<64FLEO, <7GG4O ?>765 5>?55 G7?G5?5==> 4<EF<??<=O 

«$4D<4F56F<G5E>GN E<<<N», «�<>E<<<N», «$4D<4>>?>7<N», «&5E=>?>7<O 

<77>F>6?5=<O ?5>4DEF65==OE ED54EF6», 745 ?D>4>?645FEO D476<F<5 <E 

?D>D5EE<>=4?L=OE >><?5F5=F<=. -F> ?><>65F << EF4FL ?D>D5EE<>=4?4<< 6 

>5?4EF< D4D<4F<< < <54<F<=O. 

'G55=>-<5F>4<G5E><= >><??5>E E>EF46?5= E GG5F>< E>6D5<5==OE E6545=<= > 

EFDG>FGD5 < E6>=EF64E =5>D74=<G5E><E 65M5EF6, F4>65 <7GG4NFEO 6>?D>EO 



>5M5= E<<<<. �D4>F<G5E><5 D45>FO >E=4M5=O E?D46>G=O<< F45?<F4<<, 

EE5<4<< E <??NEFD4F<O<<, D<EG=>4<<, >5D47F4<< 4?O 6O?>?=5=<O 7444=<=.  

�D4>F<G5E><5 74=OF<O >E64FO64NF 646=O5 6>?D>EO =5>D74=<G5E>>= E<<<<: 

EFD>5=<5 <>?5>G? =5>D74=<G5E><E 65M5EF6, F<?O E<<<G5E><E E6O75=, 

646=5=L<5 >?4EEO =5>D74=<G5E><E E>54<=5=<=, >>?<G5EF65==O5 >F=>L5=<O 

6 E<<<<; >?4EE<D<>4F<N E<<<G5E><E D54>F<= < E>>D>EFL E<<<G5E><E 

?D>F5EE>6; 75=5F<G5E>GN E6O7L <564G >?4EE4<< >D74=<G5E><E < 

=5>D74=<G5E><E 65M5EF6; >4G5EF65==O5 D54>F<< 4?O 4=<>=>6 < >4F<>=>6 

=5>D74=<G5E><E E>54<=5=<=; D4EF6>DO < >>??><4=O5 E<EF5<O, 

?D<7>F>6?5=<5 D4EF6>D>6 D47?<G=OE >>=F5=FD4F<=. 

�>ED54EF6>< ?D4>F<G5E><E 7444=<= D>D<<DGNFEO 646=5=L<5 >><?5F5=F<<: 

G<5=<5 >D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, 6O5<D4FL F<?>6O5 

<5F>4O < E?>E>5O 6O?>?=5=<O ?D>D5EE<>=4?L=OE 7444G, >F5=<64FL <E 

MDD5>F<6=>EFL < >4G5EF6>; >EGM5EF6?OFL ?><E> < <E?>?L7>64=<5 

<=D>D<4F<<, =5>5E>4<<>= 4?O MDD5>F<6=>7> 6O?>?=5=<O 

?D>D5EE<>=4?L=OE 7444G, ?D>D5EE<>=4?L=>7> < ?<G=>EF=>7> D476<F<O.  

�4==>5 <5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «�5M4O < =5>D74=<G5E>4O 

E<<<O» >F65G45F $545D4?L=><G 7>EG44DEF65==><G EF4=44DFG, E>45D6<F 

=5>5E>4<<>5 >>?<G5EF6> ?D4>F<G5E><E 6 E>>F65FEF6<< E D45>G55 ?D>7D4<<>= 

?> «�5M4O < =5>D74=<G5E>4O E<<<O» < <>65F 5OFL <E?>?L7>64=> 4?O 

?>47>F>6>< E?5F<4?<EF>6 6 ED54=<E ?D>D5EE<>=4?L=OE GGD5645=<OE 

<54<F<=E>>7> ?D>D<?O. 

$5F5=75=F: 

�5D6O= ?D>D5>F>D  

���� �� «�=4?E><= <=EF<FGF  

?D464 < <=D>D<4F<>==OE F5E=>?>7<=»,  

>.M.=., ?D>D5EE>D $��                                                                          �.�. �47>64 

 

 «  31  »   467GEF4   2023 7. 

 



$5F5=7<O 

=4 <5F>4<G5E>>5 ?>E>5<5 ?> 6O?>?=5=<N ?D4>F<G5E><E D45>F 4<EF<??<=O 

«%<<<O», 4?O E?5F<4?L=>EF5= 31.02.02 < 33.02.01, E>EF46?5==>5 

?D5?>4464F5?5< E<<<< < 5<>?>7<<  '��' �=4?E><= <=4GEFD<4?L=O= 

F5E=<>G<, .D>6>= �==>= %5D7556=>=. 

 

�4==>5 <5F>4<G5E>>5 ?>E>5<5 E>EF46?5=> =4 >E=>64=<< D45>G5= ?D>7D4<<O 

?> 4<EF<??<=5 «%<<<O», 6 E>>F65FEF6<< E FD55>64=<O<< $545D4?L=>7> 

7>EG44DEF65==>7> EF4=44DF4. �5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «%<<<O» 

EFDG>FGD<D>64=> < E>45D6<F 28 ?D4>F<G5E><E D45>F < 12 ?45>D4F>D=OE 

D45>F, >F65G4NM<E =5>5E>4<<><G 547<E=><G GD>6=N GG55=>-?>7=464F5?L=>= 

45OF5?L=>EF< EFG45=F4. �5F>4<G5E>>5 ?>E>5<5 <<55F E>45D64=<5, 

?>OE=<F5?L=GN 74?<E>G, 66545=<5, 40 ?45>D4F>D=>-?D4>F<G5E><E 74=OF<= E 

?D<?>65=<5< F5>D5F<G5E>>7> <4F5D<4?4 4?O E4<>EF>OF5?L=>= D45>FO 

EFG45=F4. 

&5?LN <5F>4<G5E>>7> ?>E>5<O ?> 4<EF<??<=5 «%<<<O» O6?O5FEO >FE?54<FL 

D5?D>4G>F<6=O= < ?D>4G>F<6=O= GD>65=L GG55=>-?>7=464F5?L=>= 

45OF5?L=>EF< EFG45=F4. �?O MF>7> 6 >464>= ?D4>F<G5E>>= < ?45>D4F>D=>= 

D45>F5 >?D545?5=4 55 F5?L < G5F>> 6O45?5=4 ?>E?54>64F5?L=>EFL 6O?>?=5=<O 

7444=<=, ?D54GE<>FD5=4 <E 64D<4F<6=>EFL; 7D4<>F=> ?>EF46?5=O 6>?D>EO 4?O 

74>D5??5=<O <7GG5==>= F5<O, ?D54GE<>FD5=O >>=FD>?L=O5 F5EFO, GF> 6 

E<EF5<5 >FE?56<64NF ?>47>F>6>G EFG45=F4 6 E>>F65FEF6<< E E>45D64=<5< < 

FD55>64=<O<< $545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4. 

%<<<G5E><= M>E?5D<<5=F MF> >4=> <7 646=5=L<E ED54EF6 >5GG5=<O E<<<<. � 

E>45 >5GG5=<O >5GG4NM<5EO ?>?GG4NF >?OF=O5 ?>4F65D645=<O 

DG=44<5=F4?L=OE 5EF5EF65==>=4GG=OE 74>>=>6, =47?O4=>EFL < ?D4>F<G=>EFL 

6 <EE?54>64=<< E6>=EF6 65M5EF6 ?>ED54EF6>< ?45>D4F>D=OE D45>F. 

�D5?>4464F5?L GG<FO645F 6>7D4EF=O5 >E>55==>EF< EFG45=F>6 ?5D6OE >GDE>6. 

'GF5=4 D47?<G=4O EF5?5=L ?>47>F>6?5==>EF< >5GG4NM<EEO G5D57 

D47=>GD>6=56O5 7444=<O, 6 F>< G<E?5 4?O >44D5==OE EFG45=F>6 5EFL 7444=<O 

?>6OL5==>= E?>6=>EF<. %FG45=FO <<5NF 6>7<>6=>EFL M>E?5D<<5=F4?L=> 

=4GG<FLEO 4=4?<7<D>64FL, ?D>7=>7<D>64FL E6>=EF64 65M5EF6 < ?D><76>4<FL 

M>E?5D<<5=F4?L=O5 D4EG5FO. 

�<5O ?5D6O= >?OF <7GG5=<O ?D54<5F4 E<<<< 6 L>>?5, EFG45=FO, 

>5GG4NM<5EO E ?><>MLN 44==>7> ?>E>5<O =4 74=OF<OE E<<<< 6 %��, <>7GF 

GE?5L=> D476<64FLEO, <7GG4O ?>765 5>?55 G7?G5?5==> 4<EF<??<=O 

«�D74=<G5E>GN E<<<N», «�5MGN < =5>D74=<G5E>GN E<<<N», 

«�=4?<F<G5E>GN E<<<N», «$4D<4F56F<G5E>GN  E<<<N» =4 EF4DL<E >GDE4E. 

-F> ?><>65F << EF4FL ?D>D5EE<>=4?4<< 6 >5?4EF< D4D<4F<< < <54<F<=O. 

'G55=>-<5F>4<G5E><= >><??5>E E>EF46?5= E GG5F>< E>6D5<5==OE E6545=<= > 

EFDG>FGD5 < E6>=EF64E >D74=<G5E><E < =5>D74=<G5E><E 65M5EF6. 

�D4>F<G5E><5 < ?45>D4F>D=O5 D45>FO >E=4M5=O E?D46>G=O<< F45?<F4<<, 

EE5<4<< E <??NEFD4F<O<<, D<EG=>4<<, >5D47F4<< 4?O 6O?>?=5=<O 7444=<=.  



�D4>F<G5E><5 74=OF<O >E64FO64NF 646=O5 6>?D>EO >5M5= E<<<<: 4F><=>-

<>?5>G?OD=>5 GG5=<5,  >>?<G5EF65==O5 >F=>L5=<O 6 E<<<<; >?4EE<D<>4F<N 

E<<<G5E><E D54>F<= 6 E<<<<, E>>D>EFL E<<<G5E><E D54>F<=; 7<4D>?<7 E>?5=, 

D4EF6>DO, 646=5=L<5 >?4EEO =5>D74=<G5E><E < >D74=<G5E><E E>54<=5=<=, 

75=5F<G5E>GN E6O7L <564G >?4EE4<< >D74=<G5E><E < =5>D74=<G5E><E 

65M5EF6; >4G5EF65==O5 D54>F<< =4 4=<>=O < >4F<>=O =5>D74=<G5E><E 

65M5EF6 < >4G5EF65==O5 D54>F<< =4 >D74=<G5E><5 E>54<=5=<O; 

M>E?5D<<5=F4?L=O5 D4EG5FO 6 E<<<<. 

�4==>5 <5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «%<<<O» >F65G45F 

$545D4?L=><G 7>EG44DEF65==><G EF4=44DFG, E>45D6<F =5>5E>4<<>5 

>>?<G5EF6> ?D4>F<G5E><E < ?45>D4F>D=OE D45>F 6 E>>F65FEF6<< E D45>G55 

?D>7D4<<>= ?> «%<<<<» < <>65F 5OFL <E?>?L7>64=> 4?O ?>47>F>6>< 

E?5F<4?<EF>6 6 ED54=<E ?D>D5EE<>=4?L=OE GGD5645=<OE <54<F<=E>>7> 

?D>D<?O. 

 

$5F5=75=F: 

�5D6O= ?D>D5>F>D  

���� �� «�=4?E><= <=EF<FGF  

?D464 < <=D>D<4F<>==OE F5E=>?>7<=»,  

>.M.=., ?D>D5EE>D $��                                                                          �.�. �47>64 

 

 «  31  »   467GEF4   2023 7. 



$5F5=7<O 

=4 <5F>4<G5E>>5 ?>E>5<5 ?> 6O?>?=5=<N ?D4>F<G5E><E D45>F 4<EF<??<=O 

«�D74=<G5E>4O E<<<O», 4?O E?5F<4?L=>EF5= 33.02.01, E>EF46?5==>5 

?D5?>4464F5?5< E<<<< < 5<>?>7<<  '��' �=4?E><= <=4GEFD<4?L=O= 

F5E=<>G<, .D>6>= �==>= %5D7556=>=. 

 

�4==>5 <5F>4<G5E>>5 ?>E>5<5 E>EF46?5=> =4 >E=>64=<< D45>G5= ?D>7D4<<O 

?> 4<EF<??<=5 «�D74=<G5E>4O E<<<O», 6 E>>F65FEF6<< E FD55>64=<O<< 

$545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4. �5F>4<G5E>>5 ?>E>5<5 ?> 

4<EF<??<=5 «�D74=<G5E>4O E<<<O» EFDG>FGD<D>64=> < E>45D6<F 13 

?D4>F<G5E><E D45>F, >F65G4NM<E =5>5E>4<<><G 547<E=><G GD>6=N GG55=>-

?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F4. �5F>4<G5E>>5 ?>E>5<5 <<55F 

E>45D64=<5, ?>OE=<F5?L=GN 74?<E>G, 66545=<5, 13 ?D4>F<G5E><E 74=OF<= E 

?D<?>65=<5< F5>D5F<G5E>>7> <4F5D<4?4 4?O E4<>EF>OF5?L=>= D45>FO 

EFG45=F4. 

&5?LN <5F>4<G5E>>7> ?>E>5<O ?> 4<EF<??<=5 «�D74=<G5E>4O E<<<O» 

O6?O5FEO >FE?54<FL D5?D>4G>F<6=O= < ?D>4G>F<6=O= GD>65=L GG55=>-

?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F4. �?O MF>7> 6 >464>= ?D4>F<G5E>>= 

D45>F5 >?D545?5=4 55 F5?L < G5F>> 6O45?5=4 ?>E?54>64F5?L=>EFL 6O?>?=5=<O 

7444=<=, ?D54GE<>FD5=4 <E 64D<4F<6=>EFL; 7D4<>F=> ?>EF46?5=O 6>?D>EO 4?O 

74>D5??5=<O <7GG5==>= F5<O, ?D54GE<>FD5=O >>=FD>?L=O5 F5EFO, GF> 6 

E<EF5<5 >FE?56<64NF ?>47>F>6>G EFG45=F4 6 E>>F65FEF6<< E E>45D64=<5< < 

FD55>64=<O<< $545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4. 

%<<<G5E><= M>E?5D<<5=F MF> >4=> <7 646=5=L<E ED54EF6 >5GG5=<O E<<<<. � 

E>45 >5GG5=<O >5GG4NM<5EO ?>?GG4NF >?OF=O5 ?>4F65D645=<O 

DG=44<5=F4?L=OE 5EF5EF65==>=4GG=OE 74>>=>6, =47?O4=>EFL < ?D4>F<G=>EFL 

6 <EE?54>64=<< E6>=EF6 65M5EF6 ?>ED54EF6>< ?45>D4F>D=OE >?OF>6. 

�D5?>4464F5?L GG<FO645F 6>7D4EF=O5 >E>55==>EF< EFG45=F>6 6F>DOE >GDE>6. 

'GF5=4 D47?<G=4O EF5?5=L ?>47>F>6?5==>EF< >5GG4NM<EEO G5D57 

D47=>GD>6=56O5 7444=<O, 6 F>< G<E?5 4?O >44D5==OE EFG45=F>6 5EFL 7444=<O 

?>6OL5==>= E?>6=>EF<. %FG45=FO <<5NF 6>7<>6=>EFL M>E?5D<<5=F4?L=> 

=4GG<FLEO 4=4?<7<D>64FL, ?D>7=>7<D>64FL E6>=EF64 65M5EF6 < ?D><76>4<FL 

M>E?5D<<5=F4?L=O5 D4EG5FO. 

�<5O 7=4=<O ?D54<5F4 «�D74=<G5E>4O E<<<O», ?>?GG5==O5 =4 6F>D>< >GDE5 

F5E=<>G<4, EFG45=FO, >5GG4NM<5EO E ?><>MLN 44==>7> ?>E>5<O =4 74=OF<OE 

E<<<< 6 %��, 4 ?>765 < �'�5, <>7GF GE?5L=> D476<64FLEO, <7GG4O ?>765 

5>?55 G7?G5?5==> 4<EF<??<=O «$4D<4F56F<G5E>GN E<<<N», «�<>E<<<N», 

«$4D<4>>?>7<N», 745 ?D>4>?645FEO D476<F<5 <E ?D>D5EE<>=4?L=OE 

>><?5F5=F<=. -F> ?><>65F << EF4FL ?D>D5EE<>=4?4<< 6 >5?4EF< D4D<4F<< < 

<54<F<=O. 

'G55=>-<5F>4<G5E><= >><??5>E E>EF46?5= E GG5F>< E>6D5<5==OE E6545=<= > 

EFDG>FGD5 < E6>=EF64E >D74=<G5E><E 65M5EF6. �D4>F<G5E><5 D45>FO 

>E=4M5=O E?D46>G=O<< F45?<F4<<, EE5<4<< E <??NEFD4F<O<<, D<EG=>4<<, 

>5D47F4<< 4?O 6O?>?=5=<O 7444=<=.  



�D4>F<G5E><5 74=OF<O >E64FO64NF 646=O5 6>?D>EO >D74=<G5E>>= E<<<<: 

EFD>5=<5 >D74=<G5E><E <>?5>G?, O6?5=<5 <7><5D<<, >>?<G5EF65==O5 

>F=>L5=<O 6 E<<<< G5D57 D4EG5F D>D<G?O >D74=<G5E>>7> E>54<=5=<O; 

>?4EE<D<>4F<N E<<<G5E><E D54>F<= 6 >D74=<G5E>>= E<<<<; 75=5F<G5E>GN 

E6O7L <564G >?4EE4<< >D74=<G5E><E < =5>D74=<G5E><E 65M5EF6; 

>4G5EF65==O5 D54>F<< 4?O ?D54EF46<F5?5= 646=5=L<E >?4EE>6 >D74=<G5E><E 

65M5EF6. �>ED54EF6>< ?D4>F<G5E><E 7444=<= D>D<<DGNFEO 646=5=L<5 

>><?5F5=F<<: G<5=<5 >D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, 6O5<D4FL 

F<?>6O5 <5F>4O < E?>E>5O 6O?>?=5=<O ?D>D5EE<>=4?L=OE 7444G, >F5=<64FL 

<E MDD5>F<6=>EFL < >4G5EF6>; >EGM5EF6?OFL ?><E> < <E?>?L7>64=<5 

<=D>D<4F<<, =5>5E>4<<>= 4?O MDD5>F<6=>7> 6O?>?=5=<O 

?D>D5EE<>=4?L=OE 7444G, ?D>D5EE<>=4?L=>7> < ?<G=>EF=>7> D476<F<O.  

�4==>5 <5F>4<G5E>>5 ?>E>5<5 ?> 4<EF<??<=5 «�D74=<G5E>4O E<<<O» 

>F65G45F $545D4?L=><G 7>EG44DEF65==><G EF4=44DFG, E>45D6<F =5>5E>4<<>5 

>>?<G5EF6> ?D4>F<G5E><E 6 E>>F65FEF6<< E D45>G55 ?D>7D4<<>= ?> 

«�D74=<G5E>>= E<<<<» < <>65F 5OFL <E?>?L7>64=> 4?O ?>47>F>6>< 

E?5F<4?<EF>6 6 ED54=<E ?D>D5EE<>=4?L=OE GGD5645=<OE <54<F<=E>>7> 

?D>D<?O. 

$5F5=75=F: 

�5D6O= ?D>D5>F>D  

���� �� «�=4?E><= <=EF<FGF  

?D464 < <=D>D<4F<>==OE F5E=>?>7<=»,  

>.M.=., ?D>D5EE>D $��                                                                          �.�. �47>64 

 

 «  31  »   467GEF4   2023 7. 

 


